Rend. Istit. Mat. Univ. Trieste Volume 48 (2016), 531–538 DOI: 10.13137/2464-8728/13171

Notes on a combinatorial identity

HORST ALZER AND HELMUT PRODINGER

ABSTRACT. We present a short and simple proof by induction for

$$\sum_{k=0}^{n} (-1)^{k} q^{\binom{k}{2}} {n \brack k}_{q (1-q^{k+m})^{2}} = \frac{q^{m}}{1-q^{m}} \prod_{j=1}^{n} \frac{1-q^{j}}{1-q^{j+m}} \left(2 + \sum_{j=0}^{n} \frac{q^{j+m}}{1-q^{j+m}}\right),$$

where $n \ge 1$ is an integer and $m \ne 0, -1, \ldots, -n$ is a complex number. This is a q-analogue of a combinatorial identity obtained by Kirschenhofer (1996) and Larcombe, Fennessey, and Koepf (2004). Moreover, we show that the alternating q-binomial sum is completely monotonic with respect to m, if m > 0 and $q \in (0, 1)$. The general case where the exponent 2 is replaced by a positive integer d is dealt with using the elementary technique of partial fraction decomposition.

Keywords: Combinatorial identity, q-binomial coefficient, completely monotonic, partial fraction decomposition.

MS Classification 2010: 05A19, 11B65.

1. Introduction

The work on this note has been inspired by an interesting research paper published in 1996 by Kirschenhofer [11], who performed manipulations of generating functions to find identities for the alternating binomial sum

$$\sum_{k=0}^{n} (-1)^k \binom{n}{k} f(k).$$
 (1)

A well-known approach to study sums of the type (1) is attributed to Rice, who made use of Complex Analysis. The Rice method is based upon the formula

$$\sum_{k=0}^{n} (-1)^k \binom{n}{k} f(k) = -\frac{1}{2\pi i} \int_{\mathscr{C}} B(n+1,-z) dz,$$

where B(x, y) is Euler's beta function, \mathscr{C} is a positively oriented closed curve surrounding $0, 1, 2, \ldots, n$ and f is an analytic function with no poles inside the region surrounded by \mathscr{C} .

The main reason for the interest in alternating binomial sums is that they have remarkable applications in Computer Science and the Theory of Algorithms. For more information on this subject we refer to [7, 8, 16].

Kirschenhofer proved that the sum

$$\sum_{k=0}^{n} (-1)^k \binom{n}{k} \frac{1}{(k+m)^d} \quad (d \in \mathbb{N})$$

$$\tag{2}$$

can be expressed in terms of Bell polynomials and harmonic numbers, whereas Coffey [5] showed that this sum can be written as an infinite series involving Stirling numbers. As a special case Kirschenhofer found the elegant identity

$$\sum_{k=0}^{n} (-1)^k \binom{n}{k} \frac{1}{(k+m)^2} = \frac{h_{m,n}^{(1)}}{m\binom{m+n}{m}},\tag{3}$$

where

$$h_{m,n}^{(j)} = \sum_{k=m}^{m+n} \frac{1}{k^j} = H_{m+n}^{(j)} - H_{m-1}^{(j)}.$$

Here, $H_n^{(j)}$ denotes the *n*-th harmonic number of order *j*.

In 2004, Larcombe et al. [13] presented a new method to find identities for (2). They used an integration technique to offer proofs for (3) and

$$\sum_{k=0}^{n} (-1)^k \binom{n}{k} \frac{1}{(k+m)^3} = \frac{(h_{m,n}^{(1)})^2 + h_{m,n}^{(2)}}{2m\binom{m+n}{m}}.$$
(4)

Moreover, they demonstrated that (3) and (4) as well as corresponding identities for the sum in (2) with $d \ge 4$ can be obtained by differentiation with respect to m, starting with

$$\sum_{k=0}^{n} (-1)^k \binom{n}{k} \frac{1}{k+m} = \frac{1}{m\binom{m+n}{n}}.$$

Larcombe et al. [14] provided a recursive equation for a sum closely related to (2) and used their result to find new proofs for (3), (4) and similar identities. Other methods to deal with the sums in question are described in [10, 12, 15].

In this paper we demonstrate that the identity (3) can be proved easily by using induction. More precisely, in the next section we present a short and elementary proof for a *q*-analogue of (3). Furthermore, as an application we prove a monotonicity property of the alternating *q*-binomial sum. In a final section, we show how to deal with the general case in a completely elementary fashion, using not more than partial fraction decomposition from elementary calculus.

2. The identity

The $q\mbox{-binomial coefficients}$ (also known as Gaussian binomial coefficients) are defined by

$$\begin{bmatrix} n \\ k \end{bmatrix}_q = \prod_{j=1}^k \frac{1 - q^{n+1-j}}{1 - q^j} \quad \text{if} \quad 0 \le k \le n \quad \text{and} \quad \begin{bmatrix} n \\ k \end{bmatrix}_q = 0 \quad \text{otherwise}$$

If $q \to 1$, then $\begin{bmatrix} n \\ k \end{bmatrix}_q$ tends to $\binom{n}{k}$. A collection of the most important properties of q-binomial coefficients can be found, for instance, in [4].

The following q-version of (3) holds.

THEOREM 2.1. Let $n \ge 1$ be an integer and let m be a complex number with $m \ne 0, -1, \ldots, -n$. Then,

$$\sum_{k=0}^{n} (-1)^{k} q^{\binom{k}{2}} {n \brack k}_{q} \frac{1}{(1-q^{k+m})^{2}} = \frac{q^{m}}{1-q^{m}} \prod_{j=1}^{n} \frac{1-q^{j}}{1-q^{j+m}} \left(2 + \sum_{j=0}^{n} \frac{q^{j+m}}{1-q^{j+m}}\right).$$
(5)

Throughout, we denote the sum on the left-hand side of (5) by S(m, n, q).

Proof. We use induction on n to prove (5). If n = 1, then both sides of (5) are equal to

$$\frac{(1-q)q^m(2-q^m-q^{m+1})}{(1-q^m)^2(1-q^{m+1})^2}.$$

We set

$$T(m, n, q) = 2 + \sum_{j=0}^{n} \frac{q^{j+m}}{1 - q^{j+m}}.$$

Applying the recurrence formula

$$\begin{bmatrix} n+1\\k \end{bmatrix}_q = \begin{bmatrix} n\\k \end{bmatrix}_q + q^{n+1-k} \begin{bmatrix} n\\k-1 \end{bmatrix}_q$$

and the induction hypothesis yields

$$\begin{split} S(m,n+1,q) &= S(m,n,q) - q^n S(m+1,n,q) \\ &= \frac{q^m}{1-q^m} \prod_{j=1}^{n+1} \frac{1-q^j}{1-q^{j+m}} \\ &\quad \times \left(\frac{1-q^{m+n+1}}{1-q^{n+1}} T(m,n,q) - \frac{q^{n+1}(1-q^m)}{1-q^{n+1}} T(m+1,n,q) \right) \\ &= \frac{q^m}{1-q^m} \prod_{j=1}^{n+1} \frac{1-q^j}{1-q^{j+m}} T(m,n+1,q). \end{split}$$

This gives (2.1) with n + 1 instead of n.

REMARK 2.2. (i) If we multiply both sides of (5) by $(1-q)^2$ and let $q \to 1$, then we obtain

$$\sum_{k=0}^{n} (-1)^k \binom{n}{k} \frac{1}{(k+m)^2} = \frac{n! \Gamma(m)}{\Gamma(m+n+1)} \big[\psi(m+n+1) - \psi(m) \big],$$

where $\psi = \Gamma'/\Gamma$ denotes the digamma function. This identity is given in [13]. The special case that *m* is a natural number yields (3).

(ii) If we differentiate both sides of (5) with respect to m, then we obtain the following q-analogue of (4):

$$\sum_{k=0}^{n} (-1)^{k} q^{\binom{k+1}{2}} {n \brack k}_{q} \frac{1}{(1-q^{k+m})^{3}} = \frac{1}{1-q^{m}} \prod_{j=1}^{n} \frac{1-q^{j}}{1-q^{j+m}} \left[(1+\sigma_{1}) \left(1+\frac{1}{2}\sigma_{1}\right) + \sigma_{2} \right], \quad (6)$$

where

$$\sigma_k = \sigma_k(m, n, q) = \frac{1}{k} \sum_{j=0}^n \frac{q^{j+m}}{(1-q^{j+m})^k}.$$

Identity (4) follows easily from (6). Indeed, if we multiply both sides of (6) by $(1-q)^3$ and let $q \to 1$, then we arrive at (4).

We recall that a function $f:(0,\infty)\to\mathbb{R}$ is said to be completely monotonic, if

$$(-1)^N f^{(N)}(x) \ge 0$$
 $(N = 0, 1, 2, ...; x > 0).$

These functions have interesting applications, for instance, in probability theory, numerical and asymptotic analysis. In numerous papers it was proved that various functions which are defined in terms of gamma, polygamma and other special functions are completely monotonic. We refer to [2, 3] and the references therein. See also [17] for background information.

An application of Theorem 2.1 reveals that the alternating q-binomial sum S(m, n, q) satisfies the following monotonicity property.

COROLLARY 2.3. Let $n \ge 1$ be an integer and $q \in (0,1)$ be a real number. The function $m \mapsto S(m,n,q)$ is completely monotonic on $(0,\infty)$.

Proof. Since a nonnegative constant function is completely monotonic and the sum and the product of completely monotonic functions are also completely monotonic, we conclude from (5) that in order to show that S(m, n, q) is completely monotonic with respect to m it suffices to show that the functions

$$f_1(m) = q^m$$
 and $f_2(m) = \frac{1}{1 - q^{j+m}}$ $(j \ge 0)$

are completely monotonic. This follows from

$$(-1)^N f_1^{(N)}(m) = (-\log q)^N q^m > 0$$

and

$$(-1)^N f_2^{(N)}(m) = (-\log q)^N \sum_{k=0}^{\infty} q^{k(j+m)} k^N > 0$$

which hold for all integers $N \ge 0$.

REMARK 2.4. (i) Fink [6] proved that a completely monotonic function is not only convex but even log-convex. This means that Corollary 2.3 leads to the inequality

$$S\left(\frac{a+b}{2}, n, q\right) \le \sqrt{S(a, n, q) S(b, n, q)}.$$
(7)

(ii) A theorem of Hardy et al. [9, p. 97] states that if a function ϕ is twice differentiable and convex on $(0, \infty)$, then so is $x \mapsto x\phi(1/x)$. Using this result with $\phi = \log S$ we obtain

$$S\left(\frac{2}{1/a+1/b}, n, q\right)^{a+b} \le S(a, n, q)^b S(b, n, q)^a.$$
(8)

The inequalities (7) and (8) are valid for all $a, b > 0, n \ge 1$ and $q \in (0, 1)$.

(iii) We have shown that identity (5) can be applied to prove a monotonicity property of S(m, n, p). It might be of interest to present series, product or integral representations for other binomial sums in order to find similar results. An example is given in [1].

3. The general case

Let, as usual, $(z;q)_n = (1-z)(1-zq)\dots(1-zq^{n-1})$ and set

$$F(z) = \frac{(q;q)_n}{(z;q)_{n+1}} \frac{z^d}{(z-q^m)^d}.$$

This rational function has poles at $q^0, q^{-1}, \ldots, q^{-n}$, and at q^m . We construct the partial fraction decomposition:

$$F(z) = \sum_{k=0}^{n} (-1)^{k-1} q^{\binom{k}{2}} {n \brack k}_{q} \frac{1}{(1-q^{k+m})^{d}} \frac{1}{z-q^{-k}} + \frac{A_{d}}{(z-q^{m})^{d}} + \frac{A_{d-1}}{(z-q^{m})^{d-1}} + \dots + \frac{A_{1}}{(z-q^{m})^{1}}$$

Multiplying this relation by z, and then letting $z \to \infty$, we get for $n \ge 1$:

$$0 = \sum_{k=0}^{n} (-1)^{k-1} q^{\binom{k}{2}} {n \brack k}_{q} \frac{1}{(1-q^{k+m})^{d}} + A_{1}.$$

So

$$\begin{split} A_1 &= \sum_{k=0}^n (-1)^k q^{\binom{k}{2}} \begin{bmatrix} n\\ k \end{bmatrix}_q \frac{1}{(1-q^{k+m})^d} \\ &= [(z-q^m)^{-1}] F(z) = [(z-q^m)^{d-1}] \frac{(q;q)_n z^d}{(z;q)_{n+1}} = [w^{d-1}] \frac{(q;q)_n (w+q^m)^d}{(w+q^m;q)_{n+1}} \\ &= [w^{d-1}] \frac{(q;q)_n (w+q^m)^d}{(1-w-q^m)(1-wq-q^{m+1})\dots(1-wq^n-q^{m+n})} \\ &= [w^{d-1}] \frac{(q;q)_n (w+q^m)^d}{(1-q^m)\dots(1-q^{m+n})(1-\frac{w}{1-q^m})\dots(1-\frac{wq^n}{1-q^{n+m}})} \\ &= [w^{d-1}] \frac{(q;q)_n (q;q)_{m-1}}{(q;q)_{m+n}(1-\frac{w}{1-q^m})\dots(1-\frac{wq^n}{1-q^{n+m}})} \sum_{j=0}^d \binom{d}{j} w^{d-j} q^{mj} \\ &= \frac{(q;q)_n (q;q)_{m+n}}{(q;q)_{m+n}} \sum_{j=0}^{d-1} \binom{d}{j+1} q^{m(j+1)} [w^j] \frac{1}{(1-\frac{w}{1-q^m})\dots(1-\frac{wq^n}{1-q^{n+m}})}. \end{split}$$

We continue with the computation of

$$\begin{split} [w^{j}] \frac{1}{(1 - \frac{w}{1 - q^{m}}) \dots (1 - \frac{wq^{n}}{1 - q^{n+m}})} \\ &= [w^{j}] \exp\left\{\log\frac{1}{1 - \frac{w}{1 - q^{m}}} + \dots + \log\frac{1}{1 - \frac{wq^{n}}{1 - q^{m+n}}}\right\} \\ &= [w^{j}] \exp\left\{\sum_{k \ge 1} \frac{1}{k} \frac{w^{k}}{(1 - q^{m})^{k}} + \dots + \sum_{k \ge 1} \frac{1}{k} \frac{w^{k}q^{nk}}{(1 - q^{m+n})^{k}}\right\} \\ &= [w^{j}] \exp\left\{\sum_{k \ge 1} \tau_{k} w^{k}\right\}, \end{split}$$

with

$$\tau_k = \tau_k(m, n, q) = \frac{1}{k} \sum_{j=0}^n \left(\frac{q^j}{1 - q^{j+m}}\right)^k.$$

536

Furthermore,

$$[w^{j}] \exp\left\{\sum_{k\geq 1} \tau_{k} w^{k}\right\} = [w^{j}] e^{\tau_{1} w} e^{\tau_{2} w^{2}} e^{\tau_{3} w^{3}} \dots$$
$$= \sum_{k_{1}+2k_{2}+3k_{3}+\dots=j} \frac{\tau_{1}^{k_{1}} \tau_{2}^{k_{2}} \tau_{3}^{k_{3}} \dots}{k_{1}! k_{2}! k_{3}! \dots}$$

which leads to the final formula:

$$\sum_{k=0}^{n} (-1)^{k} q^{\binom{k}{2}} {n \brack k}_{q} \frac{1}{(1-q^{k+m})^{d}} \\ = \frac{(q;q)_{n}(q;q)_{m-1}}{(q;q)_{m+n}} \sum_{j=0}^{d-1} {d \choose j+1} q^{m(j+1)} \sum_{k_{1}+2k_{2}+3k_{3}+\dots=j} \frac{\tau_{1}^{k_{1}} \tau_{2}^{k_{2}} \tau_{3}^{k_{3}} \dots}{k_{1}!k_{2}!k_{3}! \dots}$$

The special case d = 2 gives (5) and for d = 3 we obtain the following counterpart of (6):

$$\begin{split} \sum_{k=0}^{n} (-1)^{k} q^{\binom{k}{2}} \begin{bmatrix} n \\ k \end{bmatrix}_{q} \frac{1}{(1-q^{k+m})^{3}} \\ &= \frac{q^{m}}{1-q^{m}} \prod_{j=1}^{n} \frac{1-q^{j}}{1-q^{j+m}} \left[3 + 3q^{m}\tau_{1} + q^{2m} \left(\frac{1}{2}\tau_{1}^{2} + \tau_{2} \right) \right]. \end{split}$$

REMARK 3.1. If m is a positive integer, then

$$\tau_k = \frac{q^{-mk}}{k} \sum_{j=m}^{m+n} \left(\frac{q^j}{1-q^j}\right)^k = \frac{q^{-mk}}{k} \left(\mathscr{H}_{m+n}^{(k)} - \mathscr{H}_{m-1}^{(k)}\right),$$

where $\mathscr{H}_n^{(k)}$ denotes the q-analogue of the n-th harmonic number of order k.

Acknowledgements.

H. Prodinger was supported by an incentive grant of the National Research Foundation of South Africa. The authors thank the referee for helpful comments.

References

 H. ALZER, Remarks on a sum involving binomial coefficients, Real Anal. Exchange 39 (2013/2014), 363–366.

- [2] H. ALZER AND C. BERG, Some classes of completely monotonic functions, Ann. Acad. Sci. Fenn. Math. 27 (2002), 445–460.
- [3] H. ALZER AND C. BERG, Some classes of completely monotonic functions, II, Ramanujan J. 11 (2006), 225–248.
- [4] G. E. ANDREWS, The Theory of Partitions, Cambridge Univ. Press, 1984.
- [5] M. W. COFFEY, A set of identities for a class of alternating binomial sums arising in computing applications, Util. Math. 76 (2008), 79–90.
- [6] A. M. FINK, Kolmogorov-Landau inequalities for monotone functions, J. Math. Anal. Appl. 90 (1982), 251–258.
- [7] P. FLAJOLET AND R. SEDGEWICK, Mellin transforms and asymptotics: Finite differences and Rice's integrals, Theoret. Comput. Sci. 144 (1995), 101–124.
- [8] P. FLAJOLET AND R. SEDGEWICK, Analytic Combinatorics, Cambridge Univ. Press, 2009.
- [9] G. H. HARDY, J. E. LITTLEWOOD, AND G. PÓLYA, *Inequalities*, Cambridge Univ. Press, 1952.
- [10] M. ISMAIL AND D. STANTON, Some combinatorial and analytic identities, Ann. Comb. 16 (2012), 755–771.
- [11] P. KIRSCHENHOFER, A note on alternating sums, Electron. J. Combin. 3(2), R7, 1996, 10 pages.
- [12] P. KIRSCHENHOFER AND P. J. LARCOMBE, On a class of recursive-based binomial coefficient identities involving harmonic numbers, Util. Math. 73 (2007), 105–115.
- [13] P. J. LARCOMBE, E. J. FENNESSEY, AND W. A. KOEPF, Integral proofs of two alternating sign binomial coefficient identities, Util. Math. 66 (2004), 93–103.
- [14] P. J. LARCOMBE, M. E. LARSEN, AND E. J. FENNESSEY, On two classes of identities involving harmonic numbers, Util. Math. 67 (2005), 65–80.
- [15] M. E. LARSEN AND P. J. LARCOMBE, Some binomial coefficient identities of specific and general type, Util. Math. 74 (2007), 33–53.
- [16] H. PRODINGER, Some applications of the q-Rice formula, Random Structures Algorithms 19 (2001), 552–557.
- [17] D. V. WIDDER, The Laplace Transform, Princeton Univ. Press, 1941.

Authors' addresses:

Horst Alzer Morsbacher Str. 10 51545 Waldbröl, Germany E-mail: H.Alzer@gmx.de

Helmut Prodinger Department of Mathematics University of Stellenbosch 7602 Stellenbosch, South Africa E-mail: hproding@sun.ac.za

> Received June 5, 2015 Revised April 10, 2016 Accepted April 14, 2016